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Question 1

The diagram shows the relationship between number of players on a team and
different sports. This is a function.

Baseball
5

6 Basketball
Volleyball

Hockey
11—

Soccer




Question 2

Which of the following sets is a Function?




Question 3

Which of these relations choices represent a function?

1(0,0),(2.5).(3.4).(2.0)f
{(3:4),(0,5),(1,5).(2.6)}

{(1.1),(3.4),(21).(3.5)}
{(LD.21)(=3.5).(14)}




Question 4

Given the relationD = {(6,4), (8,—1), (x,7), (—3,—6)}. Which of the following values for
x will make relation D a function?




Question 5

Which relation is not a function?
1(2.5).(3.6).(4.7).(5.8)}
{(-15).(-2.5).(-3.5)(-4.5)}
{(6.-2),(-4,6).(-2.4).(1.0)}

{(0.2),(1,0),(-1.-3).(0.-1)}




Question 6

Identify the range of this relation.
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{—3.,4.6}
{4.,7.9}

{-3,0,4,6)

{2,4,7,9,10}




Question 7

Determine the range of the following relation.
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Question 8

Use the vertical line test to determine which of the following is a function?




Question 9

Determine the domain (D) and range (R) of this graph.

Domain= R; Range=y >0

Domain = x> 0; Range=y >0

Domain = x>0; Range=y =R

Domain = R; Range =R




Question 10

Identify the intervals where the function is changing as constant.
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Question 1

All the ordered pairs in the table lie on the line given by the equation y = 3x + 4.

y
7
10
13




Question 2

Which graph shows the line y = 2x + 4?

A. 4




Question 3

Which graph represents the equation y = -27?




Question 4

Which line is the graph of the equationy =-x+3?




Question 5

Which graph has a positive slope?




Question 6

What is the slope of a line that passes through points (5, -4) and (1, 0)?

-1




Question 7

What is the y-intercept of the line whose equation is 7x — 3y = 427?




Question 8

Find the slope of this equation 3x — 4y = 8

A 3

. —4

3




Question 9

Find the slope of this line




Question 10

Find the equation for this line.
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Question 1

Which equation represents a line parallel to the y-axis?




Question 3

Determine the slope and the point at which the equation x + y — 7 = 0 intercepts the y-
axis.

A. m=-1;(0,7)
m=1; (0,7)
m= _1; (OI_7)

. m=0; (0,7)




Question 5

What is the equation of the line that has a slope of 4 and passes through the point (3, -10)?
y=4x-22
y=4x+22
y=4x—43

y=4x+43




Question 7

Graph the equation of 2x + y = 4 by using the slope and y-intercept




Question 9

Write the slope-intercept form of the equation that passes through points (-3, 0) and
(Or _7)




Question 11

What is the slope of a line parallel to the line y = gx — 67




Question 13

Which of these equation is parallel to 3x -5y =107

3
=——+5
> 5




Question 15

What is the slope of a line parallel to the line below?

¥




Question 17

What is the equation of the line perpendicular to 2x + 5y + 7 = 0 that has a y-
intercept of -3.

2y—5x+6=0
S5x+2y—6=0
Sx-2y-6=0

5x-y—-6=0




Question 19

Write the equation of the line perpendicular to y + 5x = 7 and passes through the point
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Question 1

Find f(x) + g(x)
f(x) =6—8x gx) =—4x+8

A, -12x+14

B. _4x+6

C. oy

D.




Question 2

Find f(x) - g(x)
f(x) =3x glx) =x*+1

9x? +3x

Ox? +1

3x> +1

3x’ +3x




Question 3

Find f(x) - g(x) and its domain
f(x) =3x+2 gx)=7x+6

A. 21x* +32x+12; all real numbers

21x* +32x +12; all real numbers except x = —g

C.  6x? +4x+42; all real numbers

2
D. 6x” +4x+42; all real numbers except x = -3




Question 4

Find f(x) — g(x)
f(x) =3x+2 gx)=x-3

A. 2x—5




Question 5

Find f(x) - g(x) and its domain.
f(x) =4x+7 g(x) = 3x2

A. 12x+21; domain (—o0,00)
B. 12x*+21; domain (—o0,)

C. 3x’>+4x+7; domain (—o0, )

D. 12x° +21x%; domain (—oo,0)




Question 6

3f(x)

Find
g(x)

and its domain

fx)=3x>+10x -8 gx)=x+4

3x+ 2; all real numbers except x = 4

—9x + 6; all real numbers except x =4

—3x+ 2; all real numbers exceptx = —4

9x — 6; all real numbers except x = —4




Question 7

Find (f ° g)(x).
f(x)=7x+9 glx) =4x—1

28x + 2

28x + 8

28x+16

28x+35




Question 8




Question 9

If f(x) = 2x + 10 and g(x) = x? + 3, evaluate (%) (2)




Question 10

If f(x) = x?and g(x) = x — 3, whatis (f o g)(5)?
.4
.22
.27

. 50




